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Question Number : 1 Question Id : 70819120554 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In a typical combustion engine the workdone by a gas molecule is given by

W = HEBU KT, where x is the displacement, k is the Boltzmann constant and T is the
temperature. If a and P are constants, dimensions of a will be :
Options :
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Question Number : 1 Question Id : 70819120554 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 2 Question Id : 70819120555 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A :  Body ‘P’ having mass M moving with speed ‘u’ has head-on collision
elastically with another body ‘Q’ having mass ‘m’ initially at rest. If m <<
M, body ‘Q" will have a maximum speed equal to ‘2u’ after collision.

Reason R : During elastic collision, the momentum and kinetic energy are both
conserved.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options:

70819166815, Both A and R are correct and R is the correct explana’ricrn of A.

70819166816. Both A and R are correct but R is NOT the correct explanation of A.

70819166817. A is correct but R is not correctL.



70819166818. A is not correct but K is correct.

Question Number : 2 Question Id : 70819120555 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 3 Question Id : 70819120556 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A planet revolving in elliptical orbit has :

a constant velocity of revolution.

has the least velocity when it is nearest to the sun.

its areal velocity is directly proportional to its velocity.

areal velocity is inversely proportional to its velocity.

moN®p

to follow a trajectory such that the areal velocity is constant.
Choose the correct answer from the options given below :
Options :

70819166819, ** ™Y

70819166820, © °nlY

70819166821, D only

70819166822, = only

Question Number : 3 Question Id : 70819120556 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 4 Question Id : 70819120557 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Find the gravitational force of attraction between the ring and sphere as shown in the diagram,

where the plane of the ring is perpendicular to the line joining the centres. If J8R is the

distance between the centres of a ring (of mass ‘m’) and a sphere (mass ‘M’) where both have
equal radius 'R’

m M
R R
X BR Y
Options :
VB GmM

27 R2
70819166823.

\,f_f{: - GmM
70819166824, ° R
1 GMhm

: = 7
70819166825, 2¥8 R

242 GMm
)
70819166826. - R*

Question Number : 4 Question Id : 70819120557 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

JBR agym® &0} swefiafeie (@oq) ‘m’ 988w) &0} cnoaelafwo (@oq) M)
en|m36md moleles Mdelinonmel@, oald eedmio miel e R ARMBaM.
Oledlo® ®elo eoh@aBd cwodlalgim coalgy eofmiadem. all@owl@
a06mLafldanmm)eaions o GOSN MATIESR AD:DaHEM eILo dOENEETT .

m M
R R
X SR Y

Options :
8 GmM
T
70819166823. ~
J{: - GmM

70819166824, ° R

| GMm

1 B
70819166825, V8 R

E\E J GMm
3

2
70819166826. R

Question Number : 5 Question Id : 70819120558 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Four identical solid spheres each of mass ‘m” and radius “a’ are placed with their centres on
the four corners of a square of side ‘b". The moment of inertia of the system about one side of
square where the axis of rotation is parallel to the plane of the square is :

Options:

4
g maZ + 2mb?
70819166827.
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Question Number : 5 Question Id : 70819120558 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

‘m’ @0QY, ‘a’ @0 ag)MMial OS] MIES MEIM 6IG CUORERMD MAIRIAS B (BB
D e 9E8 80) MaamPETIO@ moey ajedglele el alaflelenymy.
maalmpedled 66} unesamns amalen aoaemin Maomen0w GRHEHT)
ERWOOMAE] §0 AUAIMN@eS BN Soad Mday) @RET

Options :

4 ) )
g ma< + 2mb-
70819166827.

8
—maZ+ 2mb?
70819166828, °

gma2 + mb?
70819166829.

]
—ma“
70819166830. 5

Question Number : 6 Question Id : 70819120559 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A large number of water drops, each of radius r, combine to have a drop of radius R. If the
surface tension is T and mechanical equivalent of heat is |, the rise in heat energy per unit
volume will be:

Options :
-4
J I R,'
70819166831.
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70819166832, | ¢ R/
3T

70819166833,

T
r]
70819166834.

Question Number : 6 Question Id : 70819120559 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 7 Question Id : 70819120560 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The normal density of a material is p and its bulk modulus of elasticity is K. The magnitude of
increase in density of material, when a pressure P is applied uniformly on all sides, will be :

Options :
-
70819166835,

70819166836.

70819166837, I

PK
70819166838. P

Question Number : 7 Question Id : 70819120560 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 8 Question Id : 70819120561 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Assume that a tunnel is dug along a chord of the earth, at a perpendicular distance (R/2)
from the earth’s centre, where ‘R’ is the radius of the Earth. The wall of the tunnel is frictionless.
If a particle is released in this tunnel, it will execute a simple harmonic motion with a time

period :
Options :

70819166839, ©

70819166840.

70819166841, 27 !
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70819166842.

Question Number : 8 Question Id : 70819120561 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
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Question Number : 9 Question Id : 70819120562 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The temperature § at the junction of two insulating sheets, having thermal resistances
R, and R, as well as top and bottom temperatures 6, and 0, (as shown in figure) is given by :

...... 0,
Ry
.
Options :
0,R, + 0,Ry
70819166843, K1 TRz
04Ry + 0,R,
R; + R,

70819166844.



0;R, — 05R4

70819166845, g B
8yR5 — 04R4
70819166846, 12 i

Question Number : 9 Question Id : 70819120562 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 10 Question Id : 70819120563 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

A particle is moving with uniform speed anng the circumference of a circle of radius
R under the action of a central fictitious force F which is inversely proportional to R3. Its time
periocl of revolution will be given h}-‘ '

Options :

b | L

Tx R
70819166847.
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3
70819166848, | * R

70819166849, T = R*

T x R2
70819166850.

Question Number : 10 Question Id : 70819120563 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 11 Question Id : 70819120564 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If two similar springs each of spring constant K, are joined in series, the new spring constant
and time period would be changed by a factor :

Options :

70819166851.

70819166853.
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Question Number : 11 Question Id : 70819120564 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 12 Question Id : 70819120565 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Find the electric field at point P (as shown in figure) on the perpendicular bisector of a
uniformly charged thin wire of length L carrying a charge Q. The distance of the point P

from the centre of therodis a=—1L

¢ £
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| o o s o i
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Options:
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70819166855, 7 -0
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Question Number : 12 Question Id : 70819120565 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 13 Question Id : 70819120566 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Consider the combination of 2 capacitors C . and C » with C 5> i v when connected in parallel,

the equivalent capacitance is 7 limes the equivalent capacitance of the same connected in

.Cz
series. Calculate the ratio of capacitors, C_l
Options :
29
70819166859. 1°

15
70819166860. 11

15

70819166861, =

111

70819166862, U

Question Number : 13 Question Id : 70819120566 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 14 Question Id : 70819120567 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An alternating current is given by the equation i= ;'1 sin wl+ ;'2 cos wl. The rms current will
be:
Options:

1

—a;(f'l + i)
70819166863. V<

1 (i, + ip)?

= \H 2
70819166864, V2

' 1

(2 + &)

S
70819166865, 2 '

1 1

= |if + i3)?
70819166866. <

Question Number : 14 Question Id : 70819120567 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 70819120568 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Five equal resistances are connected in a network as shown in figure. The net resistance
between the points A and Bis :

Options:

70819166867.

m|x|'

70819166868.

70819166869, *
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Question Number : 15 Question Id : 70819120568 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 16 Question Id : 70819120569 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A short straight object of height 100 cm lies before the central axis of a spherical mirror
whose focal length has absolute value |f| =40 cm. The image of object produced by the
mirror is of height 25 cm and has the same orientation of the object. One may conclude from
the information :

Options :
70819166871 Image is virtual, opposite side of concave mirror.

70819166872. Image is real, same side of concave mirror.

70819166873, Image is virtual, opposite side of convex mirror.

70819166874. Image is real, same side of convex mirror.

Question Number : 16 Question Id : 70819120569 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 17 Question Id : 70819120570 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In a Young's double slit experiment two slits are separated by 2 mm and the screen is placed
one meter away. When a light of wavelength 500 nm is used, the fringe separation will be :

Options:

70819166875, | mm

70819166876. 0.75 mm

70819166877. U.50 mm

70819166878, U-22 mm

Question Number : 17 Question Id : 70819120570 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o) osslom wemlld mgllg aidladeneild mig/lgumd 2 mm eoaeieiale mig
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Options :

70819166875, | Mm

70819166876, U-72 mm

70819166877. 0.50 mm

70819166878, U-22 mm

Question Number : 18 Question Id : 70819120571 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason K.

Assertion A :  An electron microscope can achieve better resolving power than an optical
microscope.

Reason R : The de Broglie's wavelength of the electrons emitted from an electron gun
is much less than wavelength of visible light.

In the light of the above statements, choose the correct answer from the options given below :
Options :
70819166879. Both A and R are true and R is the correct explanation of A.

70819166880, Both Aand R are true but R is NOT the correct explanation of A.

70819166881, A 18 true but R is false.

70819166882, A is false but R is true.

Question Number : 18 Question Id : 70819120571 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

20819166879, A R agyomilal cedlmoen’ jsoem R, A @ies ndlwow alwdlsoemaos.
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20819166881 A todlwoem, aleydH R mEAo6.

70819166882, A ORI, alodyt R vodl@oen.

Question Number : 19 Question Id : 70819120572 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If A; and A, are the wavelengths of the third member of Lyman and first member of the
Paschen series respectively, then the value of A A is:

Options:

70819166883, / : 108

70819166884, * °

70819166885, 1+ 3

70819166886, - °

Question Number : 19 Question Id : 70819120572 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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70819166885, 1+ 3

70819166886, +  °

Question Number : 20 Question Id : 70819120573 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

LED is constructed from Ga-As-P semiconducting material. The energy gap of this LED is
1.9 eV. Calculate the wavelength of light emitted and its colour.

[h=6.63%10"*Js and c=3x10% ms™ 1]

Options :
70819166887. 654 nm and red colour

70819166888. 6564 nm and orange colour

20819166889, 1046 nm and blue colour

70819166890. 1046 nm and red colour

Question Number : 20 Question Id : 70819120573 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ga-As-P @odab.aloeld aimim) dwlewodlalary LED penaadiafidlenim). oalem oodes
allsal 1.9 eV eoem. paldsnen|sym isnowlod mecnenadeelalje mloaljo
o EMHOIHE) e,

[h=6.63x10"*]s, c=3x 108 ms~1]

Options :

70819166887, °2% nm , 2dala] afloo

70819166888, 094 nm , B00e@f (floo



70819166889, 1046 nm , aflaidloo

70819166890, V46 nm 20la] ofloo

Physics Section B

SectionId:

Section Number :
Section type :
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Mark As Answered Required?:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Question Number : 21 Question Id : 70819120574 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

708191911
2

Online
Mandatory
10

5

20

Yes

1
7081911191

Yes



As shown in the figure, a block of mass .\ﬁ kg is kept on a horizontal rough surface of

1
coefficient of friction —=. The critical force to be applied on the vertical surface as shown

at an angle 60" with horizontal such that it does not move, will be 3x. The value of x will be

| 1
[g=10 m/s?; sin 60°= %;cos 60° = E]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 21 Question Id : 70819120574 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
afl@oiad o adleeima ealonel, 3 ke DOUIER BO] & % apifayem mudleogo

oaa an) dlovallm wron woalodlcd alaldenim) eoerlaldsenme cwlooal, &g
mlgmsorm aflwo alevalmayaod 60° edmomandd iewardanim e} @ommildemielo

epem dx.xof ofla  epdidan.
3 i
[g=10 m/s?; sin 60°= % ; cos 60°= 7]

1
= 36, |™ J3kg .

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 22 Question Id : 70819120575 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

{ \

20i+10]

—

A bO}-' pushr_-s a box of mass 2 kg with a force F = N on a frictionless surface.

J
__ mis displacement along the x-axis after

[f the box was initially at rest, then _
10 s.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 22 Question Id : 70819120575 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
.—} M .’-\_\l
80} &g 2 kg 00y 988 @0} eulglow F =[2m‘ 10§ ‘N MIBICEMINS B0,
\ J

aplBauemalpjomm oaldmalmdiad megimwosn. 807 ealg encemwit afvaisnaimodid

apdlopmela, oo t=10 s &¥lw)emion aalad x-durale)gs mmanmeoe @en
m.

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 23 Question Id : 70819120576 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A person standing on a spring balance inside a stationary lift measures 60 kg. The weight of
that person if the lift descends with uniform downward acceleration of 1.8 m/s? will be
N. [g=10 m/s’]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819120576 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

rlvaeoamowiegs 8o} elaisld ey mijallodd (@oqid mldsnym aead 60 kg
anadnimy. ellads 1.8 m/ s> M/esmEmmons MOEPHS Galodh@onemerld Eowoses ono

i

@pem’ N, [¢=10 m/s?|
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001



Question Number : 24 Question Id : 70819120577 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The mass per unit length of a uniform wire is 0.135 g/cm. A transverse wave of the form
y=—021 sin (x+30t) is produced in it, where x is in meter and t is in second. Then, the
expected value of tension in the wire is x x 10 % N. Value of x is . (Round-off to
the nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819120577 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
80) ad®m dmiwes (aalolg aoqy 0.135 g/cm agem. @l QerRodHm B0

@MY lo ®oeH®M y=—0.21 sin (x+301) ag)Mm eosleqlsiemdo. S, x digdlelo t
omandlelmoem. o9 dmioled ialedlenmm celal eielo xx10-2 N @pem. x 60
afliosm . (appauje @esyenm aldemmos)aid)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819120578 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



A container is divided into two chambers by a partition. The volume of first chamber is
4.5 litre and second chamber is 5.5 litre. The first chamber contain 3.0 moles of gas at pressure
2.0 atm and second chamber contain 4.0 moles of gas at pressure 3.0 atm. After the partition
is removed and the mixture attains equilibrium, then, the common equilibrium pressure
existing in the mixture is xx 10 Latm. Value of x is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819120578 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

an) Hemeind ea) alezm Eovlasiem’ el caulalldlenim). AajeE
s.almIdled alpalmo 4.5 elgole emsonamm cairudle@® 5.5 elgol eoem. EREEEM
eaimudl@d 2.0 @emdley adaemiae)es 3.0 cad Ao, AM20QOEM C.almICIH
3.0 mmdley adagmilees 4.0 eadd aomdbnljaine. allegméon dlane ooE
& dlem, dlggl@o mvnjellmoainodl®@ ag@mim). @eeejod oo dwlmee)es
unmelle adge @em xx 10~ atm. x o@ ofel @em’ :

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819120579 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



A radiation is emitted by 1000 W bulb and it generates an electric field and magnetic field at
P, placed at a distance of 2 m. The efficiency of the bulb is 1.25%. The value of peak electric
field at P is x x10~1 V/m. Value of x is . (Rounded-off to the nearest integer)

[Take &,=8.85x10 "2 C2N"1m~2 ¢=3x10° ms™ ]
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819120579 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

1000 W eag erucdent eafldanim allaloemsmed 2 m ajeavdleyes P agom enllozjallcd ey
OOCUAL® aMLEIallo B0) &Mk MemuAIalle Ok fudmilan sxam 1.25%
epen. P old ensodym eegym asmveiomiond epqale swdmm afle xx107! V/m
epem. x o alla  @wem. (a@pale @osiem aljdemmiosyeia)

[R]

[ £g=885x10"12 (2N m~2, c=3x10° ms™ lag) ag)siae)d)
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819120580 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

In an electrical circuit, a battery is connected to pass 20 C of charge through it in a certain
given time. The potential difference between two plates of the battery is maintained at 15 V.
The workdone by the battery is J.

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819120580 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
80} eacay®m mbagid, ey dele mooowle 20 C oode @malens
Hsmealobamenalweml@ o) esuogdl caislaflaflelenim).  suogdlwes
B Riidasswilenes ealogmany@ almpome 15 V apel daddemialdenim). eiogd
DM (oo @pem .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819120581 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



The circuit contains two diodes each with a forward resistance of 50 () and with infinite
reverse resistance. If the battery voltage is 6 V, the current through the 120 () resistance is

~ mA.
Dy 1300
™ AMN
Dli. 100 0
I~ i
| 1200
| } AN
6V

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819120581 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

omildlenym qdeaydla, sossomimie 50 Q canadeiw (iellerowalle @MW
dlecuy'm’ (aflenowajo HE8 M6ME" WEIWHMD paE. moqdlwies saldess
6 V apesmaad, 120 O pdlenowmileyeswigs eamaI® [@I0ano deMdROd) .

Dy
13002
L‘;:I AN
':;’1 10000
K AN
| 120 €)
I } AN
6V

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count: Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 29 Question Id : 70819120582 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The maximum and minimum amplitude of an amplitude modulated wave is 16 V and 8 V
respectively. The modulation index for this amplitude modulated wave is x X 102 The value
of x is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819120582 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

80} @Doqllpli cooMjeaIfAl ®RNETIOG afAtle dbSIWMmIe &)06TH®)AIW
ER@ElkeR @Lohao 16V, 8 V agmilaumasn. &0 @ogiqiiod eaoaieainal eoonesad
8RO ERIHM sadanamy xx 1072 @pem. x o afliwoer
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001



Question Number : 30 Question Id : 70819120583 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

In a series LCR resonant circuit, the quality factor is measured as 100. If the inductance is
increased by two fold and resistance is decreased by two fold, then the quality factor after
this change will be

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819120583 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

&0} eyeidaidlelgs LCR @omimoa mubddsglamd #joslhl anossd 100 epal aegdnym),
aoaloal BHmdwdsn’ e ases” adallaflaniswjo, (wdlendwo o6 nseE
BHIOWEE B 6.010mMd, 0 B0R®HIM) CLRaHMBR dhiOgH] andsSD EBEMAIHE .
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Chemistry Section A
Section Id : 708191912
Section Number: 3

Section type : Online



Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911192
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819120584 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The orbital having two radial as well as two angular nodes is :

Options :

3p
70819166901.

70819166902, 4d

70819166903, 4!

70819166904, °d

Question Number : 31 Question Id : 70819120584 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
@6ng cOAUl@@ eMInjo MeNE @Yo LD emotble 988 BademilQm apm ?

Options :

3p
70819166901.

70819166902, 4d



70819166903, 4!

70819166904, °d

Question Number : 32 Question Id : 70819120585 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A : Dipole-dipole interactions are the only non-covalent interactions, resulting in
hydrogen bond formation.

Reason R : Fluorine is the most electronegative element and hydrogen bonds in HF are
symmetrical.

[n the light of the above statements, choose the most appropriate answer from the options
given below :

Options :
70819166905, Both A and R are true and R is the correct explanation of A

70819166906. Both A and R are true but R is NOT the correct explanation of A

70819166907, A 1 true but R is false

70819166908, A 18 false but R is true

Question Number : 32 Question Id : 70819120585 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



(Iimacum A @Jo @I0eMo R o @aelenid.

(@M A 1 ©ea0LERM embm@ziealss mallenim agid cmoend eonloeln
EURIMET HOAEAINR- HOAUEINR MO,
@nemo R : o0l agpallo eelkEs) ammndial @m® njelke @M. GrEleea

ORanLRM enumumsmtd ruadlmmoend.
Dl aloeTmUOQEn)Cla) dwow sEme ap® ?
Options :

(L @IcUm A @jo HIveMe R Ho alwoem R aMmm A @)6S NElwow
70819166905, QJlodld0emmosny.

(O @ICUM A @)o HIvEMe R Ho tadl@oem. aledtd R ag)m® A @)es ndwow
70819166906, RAE06M0E,.

70819166907. A mmﬁ@mm, aleydhH R EXTRO .

20819166908, A ©®REM, aleds R tdl@oem.

Question Number : 33 Question Id : 70819120586 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List-1 with List-1L

List-1 List-11

Electronic configuration AH in k] mol ~1

of elements
(a) 1s22s2 (1) 801
(b) 1s22s?2p? (i) 899
() 1s22s22p? (i) 1314
(d) 1s?2s%2p! (iv) 1402
Choose the most appropriate answer from the options given below :
Options :
20819166909 (@) — (1), (b) — (iv), (¢) — (iii), (d) — (ii)

70819166910, (@) = (W), (b) = (i), (¢) — (i), (d) — (iii)

70819166911 (@) — (1), (b) — (iti), (c) — (iv), (d) — (1)



70819166912. (a) — (1), (b) — (iii), (c) — (iv), (d) — (ii)

Question Number : 33 Question Id : 70819120586 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
ellgy - 1 eo ellgy - 11 Ho Caldjoals] Calbdee .

efloy - 1 efloy - 11
Q) EIHEIRERIOS ENLIHE(SI6NDd AH in k] mol !
aflmyaae

(a) 1s22s2 (i) 801
(b) 1s22s22pt (i) 899
() 1s22s22p? (iii) 1314
(d) 1s22s22p! (iv) 1402
WAlLI® HEMMO af® ?

Options:

70819166909. (@) = (i), (b) — (iv), (c) — (iii), (d) — (ii)
70819166910, (@ = (W), (b) = (i), (0) — (ii), (d) — (iii)

20819166911, (@ = (i), (b) — (iii), (¢) = (iv), (d) — (i)

20819166912, (@ — (., (b) = (iii), () — (iv), (d) — (ii)

Question Number : 34 Question Id : 70819120587 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List-1 with List-1L
List-1 List-11
(Ore) (Element Present)

(a) Kernite i) Tin

(
(b) Cassiterite (ii) Boron
(c) Calamine (iii) Fluorine
(d) Cryolite (iv) Zinc
Choose the most appropriate answer from the options given below :

Options :
70819166913, (8) = (i), (b) = (i), (¢) — (iv), (d) — (i)

70819166914, (@ — (i), (b) — (i), (¢) — (ii), (d) — (iv)

20819166915, (@) = (i), (b) = (iv), () — (i), (d) — (iii)

70819166916. (a) — (i), (b) — (iii), (c) — (iv), (d) — (ii)

Question Number : 34 Question Id : 70819120587 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ellgy - 1 9o ellgy - Il ®o calmjoalsS] Ealddeid:.

efloy - 1 efloy - 11
(@rwle) (9o £09881M o)eld0)
(a) emdonemg i) Sad
(b) @momiigeeog (i) @eruoeOeNd
() dmenddd (i) qgicilad
(d) i mewoeealg (iv) onfles

AlwOw HEMDO af® ?
Options :
20819166913, (@ — (i), (b) —= (i), (c) — (iv), (d) — (iii)

70819166914, (@ — (i), (b) — (i), (¢) — (ii), (d) — (iv)

20819166915, (@) — (ii), (b) — (iv), (c) — (i), (d) — (iii)



70819166916. (@) — (1), (b) — (iii), (c) — (iv), (d) — (ii)

Question Number : 35 Question Id : 70819120588 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Statements about heavy water are given below.

A. Heavy water is used in exchange reactions for the study of reaction mechanisms.
B.  Heavy water is prepared by exhaustive electrolysis of water.

C.  Heavy water has higher boiling point than ordinary water.

D.  Viscosity of H,O is greater than D,0.

Choose the most appropriate answer from the options given below :
Options:

70819166917, A and B only

70819166918, ‘+ and C only

70819166919, ‘*and D only

70819166920, ‘% Band Conly

Question Number : 35 Question Id : 70819120588 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

RINBLIOEMENC B8 (INIBOUMEBRD MNP HEBISIHNM).
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B. memdloq mmdep eeclgymallegatemo  alfl@oem’  eelmeelo
o@ajodlafanyma.

C. camzeaoian alanie mowocem gemtledalensacd swdmamoern.

D. =zamflen almiesonidl caimzaimmilepalenanid &)simealosn.

@269 ehos)oldanmaidid dliimie e SEMR HMOOETHS b))k,



Options :
70819166917, ‘* @ie B @jo @mo(@o

70819166918, 4 @lo € Wjo @(®o
70819166919, * @0 D @jo mo@o

70819166920, A B agmilaumio C @jo moi®o

Question Number : 36 Question Id : 70819120589 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Find A, B and C in the following reactions :
NH,+ A +CO, — (NH,),CO,

(NH,),CO; + H,O0+B — NH,HCO,
NHHCO,; + NaCl — NH,C1+C

Options:
70819166921, 2 HAY FB—0; C—Nay(O,

20819166922, + 120 ; B~ 0, ; €~ NaHCO,

70819166923, T oA b Sk ke =INEERCE,

70819166924, e : g

Question Number : 36 Question Id : 70819120589 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



moey maddslafldlenim eomudenmsmslad A, B, C agomilal agmosm ?
NH;+ A +CO, — (NH,),CO;

(NH,),CO, + H,0+B — NH,HCO,

NH,HCO, + NaCl — NH,Cl +C

Options:

70819166921, * H20 ; B~ 0Oy €~ Nay(O;

70819166922, 1120 7 B~ 0, ; C~NaHCO,

70819166923.

70819166924, = . .

Question Number : 37 Question Id : 70819120590 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Compound A used as a strong oxidizing agent is amphoteric in nature. It is the part of lead
storage batteries. Compound A is :

Options :

70819166925, 'bO

70819166926. ot

70819166927, L P3C4

PbSO,
70819166928.

Question Number : 37 Question Id : 70819120590 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Ch00aIDENE A af)M® @RoCINSTlE MIRINI0 HRR 60 dM e (@ BodmJlaodl@aen),
@@ Hel eRoen cIoRClB NS NN @EM. agf)MIET) EdoalDems A ?

Options :
70819166925, PO

70819166926, | PO

70819166927, | P34

PbSO,
70819166928

Question Number : 38 Question Id : 70819120591 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the following lanthanoids does not form MO, ?
[M is lanthanoid metal]

Options :

70819166929, Nd

70819166930, Y

70819166931, LT

70819166932, YD

Question Number : 38 Question Id : 70819120591 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



®26% 6dhos)Oildlanimm elommanmaesldd agmosm MO, oemoencmn@ ?
[M &0} eomesmal Galdanmoem]

Options :
70819166929, Nd

70819166930, Y

70819166931, LT

70819166932, YD

Question Number : 39 Question Id : 70819120592 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The presence of ozone in troposphere :

Options :
70819166933 protects us from the UV radiation

70819166934 protects us from the K-ra}-' radiation

generates photochemical smog
70819166935.

protects us from grc-c-nlmusc- effect
70819166936.

Question Number : 39 Question Id : 70819120592 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
e(soeq jomvadl@dleal soemoeniiean mammlwo.

Options :



20819166933, 02 UV allalosmasidd almjo avodsdanim;.

20819166934, 022 X-60 afleloemmniiad aflomge monwsleaiomy.

20819166935, CaN0ESIeBAHNT MIEMOUT ©BNB0HM],

20819166936, P22 OGN JaOUO®E: (@U@ ailmje quons:laaniom).

Question Number : 40 Question Id : 70819120593 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement 1: A mixture of chloroform and aniline can be separatod bﬂ, simplr_- distillation.

Statement Il :  When separating aniline from a mixture of aniline and water b*. steam
distillation aniline boils below its boiling point.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :

70819166937, Both Statement I and Statement 11 are true

70819166938, Both Statement I and Statement 11 are false

70819166939 Statement 1 is true but Statement Il is false

20819166940 Statement 1 is false but Statement 11 is lrue

Question Number : 40 Question Id : 70819120593 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



06N (I MIMOCLIMLUD MIOY OdboS Tl dleeimy),

(Jov@ocum I @ Ggh0800eando, @undlellid agmicumies dlglmo moworem emjemo
a4l ecudaidlenoo.
(mocum 11 @emlallod, @elo agmilcuees diwlmadad oflmlo eoodleld

dleoall emyemo adl caudaldlenemiodd, emlefld @owleadd
dgnfleidleno moes alganim).

Options :
70819166937, HN@OQUMEE® 1 oo 1l 9o cadl@oen).

70819166938, (IS @M 0D I 60 1l &0 mrmgoam".

70819166939, (HM@IQUM 1 (o@l@oeNT, aldds (ali@oaum I emEo6M.

70819166940. (Ir@ICUM 1 &WMEIEM), ale)dd (adoomocum 1l caaloen.

Question Number : 41 Question Id : 70819120594 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following is ‘a” FALSE statement ?

Options :

70819166941 Carius tube is used in the estimation of sulphur in an organic compound.
70819166942, Carius method is used for the estimation of nitrogen in an organic compound.
70819166943 Kjeldahl’s method is used for the estimation of nitrogen in an organic compound.

Phosphoric acid produced on oxidation of phosphorus present in an organic compound

20819166944, is precipitated as Mg,P,0- by adding magnesia mixture.

Question Number : 41 Question Id : 70819120594 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
HOARIW (MMM af@Iem” ?
Options :

80dwld Mowemanieal m@andlen @aAL &eme@nIdndm &odlmm syl
70819166941, £SO,

£0d0a0Tld Mo)amadea HaMIERM ARENT MMM @l 6acmm

70819166942, 2H-E@UIH0M]

£0dmanile Mo emanias aamSzam BRSNS &emandandm axmeom aaeema

70819166943, 2C@UIHOM

eodwnoile: mowemeled arsarleig)y Eanomian0mi 8osmlatla) O

6anomiganodle @pmila, auitflayy diglme eoldenimemons Mg,P,0,; apall

70819166944, OlMlallegq ©a1g)mmy

Question Number : 42 Question Id : 70819120595 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

For the given reaction :

CH =CHBr 1. NaNH,
| : i (A)
CH, 2. Red hot iron tube, 873 K (major product)
What is ‘A" ?
Options:
(|:H =CH—-NH,

-

CH,
70819166945,

CH,CH.,CH,NH
70819166946, % . G .

70819166947. :



H,C CH;,

CH,
70819166948. :

Question Number : 42 Question Id : 70819120595 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
MOOY MBI EIMIUdEDMED@ ‘A" agmosm ?

GH==CHBr ; NaNH,
, - (A)
CH, 2. Red hot iron tube, 873 K (major product)
Options:
CH=CH-NH,
CH,
70819166945.

CH,CH,CH,NH,
70819166946. ' salle st

70819166947. :

H,C CH,

CH,
70819166948. :

Question Number : 43 Question Id : 70819120596 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

For the given reaction :

CH,CH,4
- - Ell'z , "'.h’
TR T 1 '} i
UV light (major product)
monobrominated

CN

What is "A’?

Options :
70819166949.

CH,CHjy
70819166950.

\CI I/

f "CN
70819166951.
CH,CH;

70819166952.

Question Number : 43 Question Id : 70819120596 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

MOOY edhoS|Aldlean) M eomplcdemmaeties ‘A’ agyrmoen ?

CH,CH,
- B['z

} s 1\..‘
UV light i

(major product)
monobrominated

CN
Options :
H>CHj

oC.

CH,CH,4

Br
\Cl I/
f “CN

CH,CHy

0L,

Question Number : 44 Question Id : 70819120597 Question Type : MCQ Option Shuffling : Yes

70819166949.

70819166950.

CH,4

70819166951.

70819166952,

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Hydrolysis B

A . 5

(C4HyCly)
B reacts with Hydroxyl amine but does not give Tollen’s test. Identify A and B.
Options :

70819166953. 1,1-Dichlorobutane and Butanal

70819166954. 2 2-Dichlorobutane and Butanal
70819166955. 1,1-Dichlorobutane and 2-Butanone

70819166956. 2 2-Dichlorobutane and Butan-2-one

Question Number : 44 Question Id : 70819120597 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A Hydrolysis B
(C4HgCly) SIK - (C4H0)

B 66ansIsmied aodmiaod (odowlenm), alasy esosgmdnl asgy madaimig).
A, B o)l @noidao @fldlodlw)d.

Options :
70819166953 1,1-06)EgH OO S, enSmoT

70819166954, 2,2-06) (W OCOENI S, sniygmond

70819166955, 1,1-&@@@@&@@&&3{%@5@@, Z-Mégétsmﬂm

70819166956, > ©OWEFIE0ENIYESIM, enjji5ad-2-aend

Question Number : 45 Question Id : 70819120598 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Identify the major products A and B respectively in the following reactions of phenol :

OH
_‘[ij CHCls, NaOH Br, in CS, @
e
(i) HO* 73K
Options :
OH OH
Br CHO
and
70819166957.
OH OH
Iz:)j and @
70819166958, BT CHO
Br
and
70819166959. CHO
OH OH
CHO
and
70819166960. BT

Question Number : 45 Question Id : 70819120598 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

®o6y maddrlaligies adlemaglad eom (iudemmsmgleal iwom pmajmemBeow A, B
af)micl @Lobmo agmoem ?

OH
q(ij CHCl,, NaOH Br, in CS, @
Fow--
(i) H;0* 273K
Options :
OH OH
Br CHO
and
70819166957.
OH OH
@ and @
70819166958, BT CHO
OH OH
Br
and
70819166959. 22
OH OH
CHO
and
70819166960.  BF

Question Number : 46 Question Id : 70819120599 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement 1 :  o-Nitrophenol is steam volatile due to intramolecular hydrogen bonding,
Statement 1l :  o-Nitrophenol has high melting due to hydrogen bonding,

[n the light of the above statements, choose the most appropriate answer from the options
given below :

Options :

70819166961 Both Statement I and Statement 1l are true

70819166962. Both Statement I and Statement 1l are false

70819166963 Statement 1 is true but Statement 11l is false

70819166964. Statement 1 is false but Statement 1l is true

Question Number : 46 Question Id : 70819120599 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
69 MENE ([ IMmIIMUD mmildlanim).

(m@acum 1 @ @EDIME®DI(®I nHan(W D ErUIWMo dh0M6Mo,
0-00me(Stadiematd mleoal@odd etadallddlennalsym).

(adoromocuen 11 : 60D eIMLMo dbvEMo, 0-HaMESdademodiam omdma el
oLdMM@mOET.

(mimocumaeg alfl moevwieadind apaalle @EMEVIRMIW HEMRO af® ?

Options:
70819166961, HT@OAUMEE 1, 11 agirrilal cadl@oeny

(dov@mocumad 1, 11 agnmilcl emaosm

70819166962.

20819166963, (=MV@IQUM 1 wdl@le, Il HmEI@OosT

20819166964, HM@ICUM I H®Q0 1L mm’tcﬁigmamf



Question Number : 47 Question Id : 70819120600 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An amine on reaction with benzenesulphonyl chloride produces a compound insoluble in
alkaline solution. This amine can be prepared by ammonolysis of ethyl chloride. The correct
structure of amine is :

Options :

CH,CH,CH,NHCH,
70819166965, 2 2 ~

H
CH.CH,CH-N — CH,CH
70819166966. gt 2.3

NH —CH,CH,CHj
70819166967, :

CH,CH,NH,
70819166968. - - Z

Question Number : 47 Question Id : 70819120600 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

an) aealm, eeudmin mdeansemlad egooanaw)mal (wadomlal 9enzadim
alaobmoo, @adenel] enwnieid awlsnymiyy. v @, ooeandd %as}s}omﬂs}r@
anemocemoelimilny cudl eensosemd alglo. ag@lad o eedled wdlwow ceism af® ?

Options :

CH,CH,CH,NHCH,
70819166965,  ° 2 2 :

H
20819166966, <1 13CH12CHoN — CHLCH;

70819166967.



: . NH —CH,CH,CHj,

CH;CH,NH,
70819166968. L e

Question Number : 48 Question Id : 70819120601 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The structure of Nenprene is :

Options :
—{—CI—IECH:CI—I—CHQ—CHE CH ]n
70819166969. CN
Ll“l
L cH, C—(H—CHQA}F
70819166970.
%HNH “/Nﬁh ,,NHCHHE
KHHHKN
NH
70819166971. |
«PCHZ CH-|
In
70819166972. —

Question Number : 48 Question Id : 70819120601 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
ofleondled calsm a@moem ?

Options :
+CH2CH:CH—CH2—CH2 CH ]n
70819166969. CN
rL|“1
[ CH, C—(TH—LTH2+H
70819166970.
% I‘II"'\J-HH Nx - NHCHE %_
Y )
N-_ f[\:
NH
70819166971. |
FCH,——CH—
70819166972. =

Question Number : 49 Question Id : 70819120602 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following vitamin is helpful in delaying the blood clotting ?
Options :
70819166973, Vitamin B

70819166974, Yitamin C

T e 4 a
70819166975, " itamin E



70819166976. Vitamin K

Question Number : 49 Question Id : 70819120602 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o6 maalalges allgodlmeled admo dgallslanime almgds apaam allgoad
ap@ ?

Options :

70819166973, R0 B

70819166974, igodiad C

70819166975, JReAM E

70819166976, Rodlad K

Question Number : 50 Question Id : 70819120603 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

On treating a compound with warm dil. HESD4, gas X is evolved which turns KgCrED?
paper acidified with dil. H,50, to a green compound Y. X and Y respectively are :

Options :

70819166977. 3 2(50,);

70819166978, 202 Y=Cr0,

X kT SDE" Y a {:r')Dq
70819166979. ; = i

X . SD"),- Y = CI‘-;{SD_.I]:E
70819166980. E 5 :



Question Number : 50 Question Id : 70819120603 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

0o10l@ alsies emidallal H,S0, mowl icudemla) 6oy Mo@iaMo X ag)(M QOGO
mgomﬁegﬂ%g emdalla) H,50, 20wl mmiaflosan 6210/® K,Cr,0; calaldlom X,

alay dlomies Y agm m:»om:g}a&mmam 2ogl. agmoeny X, Y agmicu ?
Options :
X=50,, Y Cr.[90,
70819166977. g 2(504)s
70819166978, oz ¥ =C10s
X=50;, Y=Cr,04
70819166979. y g
X=50,, Y=Cr,(S0,);
70819166980. % iz :
Chemistry Section B
Section Id : 708191913
Section Number : 4
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1

Sub-Section Id : 7081911193



Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 70819120604 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The number of significant figures in 50000.020 > 10 3is .
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 51 Question Id : 70819120604 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

50000.020 x 10 3 -wfl@d a8 modmad @oHeeTRd _ @oem.
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 52 Question Id : 70819120605 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

|f 74
\ dP JT

A certain gas obeys P(V,, — b) =RT. The value of

m

(Integer answer) (Z : compressibility factor)

Response Type : Numeric

1 .
. xb i, 4
is —. Thevalueofxis .



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819120605 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
()

80} aomdso PV ~b)=RT agm dlome @omymdlanimy ‘f‘ ag)M@leq mjelo
Vot T

%. epoem®l@® ¥ -o@ ol @pem. (9mmeo aljdemmos))

(Z : dwolntmfiendlelif] apisdso)
Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 53 Question Id : 70819120606 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

For a chemical reaction A+ B =C+D

(A, H®=80 K] mol~1) the entropy change A S® depends on the temperature T(in K) as
A S9=2T (] K~ 'mol 1),

Minimum temperature at which it will become spontaneousis K. (Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 53 Question Id : 70819120606 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A +B = C+D agm eomilcudoemmaenslo

(4,HO=80 k] mol 1), agydeison]l 4,5° -@jo moalaflel T(in K) -@jo mailelgs enimuo
eemam@oem:- AS® =2T (JK~mol ~1) &0 somijaicubamme misaloceneail@my @adsym
)06 @oaloflel K @oem. (ommoo aljdemmon)ei)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819120607 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

224 mL of 802{ s at 298 Kand 1 atm is passed through 100 mL of 0.1 M NaOH solution. The

: ) gk e :
non-volatile sofute produced is dissolved in 36 g of water. The lowering of vapour pressure

o
]

of solution (assuming the solution is dilute) (Hn@fﬂ mm of Hg ] is %102 mm of Hg,

the value of xis (Integer answer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 54 Question Id : 70819120607 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

298 K moalafleieiego 1 atm -eljo 224 mL SOy, 6m 100 mL 0.1 M NaOH eoiaieaiss)
asoflalls). evamam eidla) midataldfleidgoom ellme, 36 g geimid ewlalla) o
emdam eownlememmy redallajod, oelad euoavadqeted moa) xx1072
mm Hg @oaldlenie. og@l® x-o@ ol apem. (9emoo aljdemmosy)

(Pgr,0)=24 mmof Hg

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819120608 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A homogeneous ideal gaseous reaction ABy) = A, +2B g) 15 carried out in a 25 litre flask
at 27°C. The initial amount of AB, was 1 mole an& the equilibrium pressure was 1.9 atm.
The value of KI’ is xx10~2, The value of xis __ . (Integer answer)

[R=0.08206 dm?atm K~1 mol~1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 55 Question Id : 70819120608 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



AByg) = A+ 2By agim canoemogdlnmy pema alowmd: ialiaiudammo, 27°C

moalrfleiafla, any 25 ellgd qgomisl® msenll. ®ssaeuld AB, o maal 1 eaodd
ap@loym;. oafelnive adgo 1.9 atm epesmsld, K, @ps allel xx10~* @pem.
xo@ala ? (pmme aljdemmosyeia)

[R=0.08206 dm’atm K~ ! mol "]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 56 Question Id : 70819120609 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
Consider the following reaction

MnOjy +8H* +5e~— Mn*2+4H,0, E°=151 V.

The quantity of electricity required in Faraday to reduce five moles of MnOy is _ __ &
(Integer answer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 56 Question Id : 70819120609 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



Y alOWYM ROMlIdEmMO
MnO,~ +8H* +5e~— Mn*2+4H,0, F°=151 V.

al@len]ajodd, 5 emovd ..""rll‘l[_h @ dlecodsmilatemanie eparm enceydlwes
@gal _ anoocow @em. (9mmeo aljdemmosywd)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 57 Question Id : 70819120610 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

An exothermic reaction X — Y has an activation energy 30 k] mol~!. If energy change
AE during the reaction is — 20 k], then the activation energy for the reverse reaction in k] is
. (Integer answer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 57 Question Id : 70819120610 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

X =Y ag)m moaiafalesm woudemmnesien eoaglecaum agmbad] 30 kJ mol !
apem. 97 lludemmenleal ®ialmoge AE=-20 k] @peem@ldd, olvmiom’
(cudemmesinies Aod:Sealad agmbe] _ k] epwilelanie. (om0
aljdemmosyyiad)

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 58 Question Id : 70819120611 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

3.12 g of oxygen is adsorbed on 1.2 g of platinum metal. The volume of oxygen adsorbed per
gram of the adsorbent at 1 atm and 300K inLis

[R=0.0821 L atm K~ ! mol ]

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 58 Question Id : 70819120611 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

1.2 g gJodlmo eeloanmmfl@, 3.12 g sodmilzd @ewemaden’ oaigeqs). 300 K
®moalmlaeeye 1 atm adgemilale 82600 (oo @eUEMIBeUMElae @aUEmIdenS
02IQPalg BoBMIRAM aljdalmo __ L eoaidlan.

[R=0.0821 L atm K~! mol ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001



Question Number : 59 Question Id : 70819120612 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Dichromate ion is treated with base, the oxidation number of Cr in the product formed is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819120612 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

peWEHIEDG @eweTan emimad wadomalle) #igim saajmaenoeal Cr-oq
Bodbileaam® ooty @pem.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 60 Question Id : 70819120613 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Number of bridging CO ligands in [Mn,(CO),,Jis .
Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 60 Question Id : 70819120613 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

[Mn,(CO), ] pei@)o (enflalglowd CO elltandhains agepo
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Mathematics Section A
SectionId: 708191914
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required?: Yes
Sub-Section Number : 1

Sub-Section Id : 7081911194



Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 70819120614 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Sy 0 o

—
If a and p are perpendicular, then a x |

I

T o, bJH is equal to :

Options :

S’

70819166991.

4

‘—}—>

al b

M| =

70819166992.

e
70819166993.|a‘ b

e

70819166994, @ * b

Question Number : 61 Question Id : 70819120614 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

— =

= -— |—3 (—}
a, b agmict alemial®o RlosnIm@OMd, a x la x la x

|:'—; —3

Options :

P’

70819166991.

—|" —=

4
‘a b

M| =

70819166992.



:
70819166993.|a‘ b

e

70819166994, @ * b

Question Number : 62 Question Id : 70819120615 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If (1,5, 35), (7, 5,5), (1, A, 7) and (2A, 1, 2) are coplanar, then the sum of all possible values
of Ais:

Options:

70819166995, °
70819166996, 2

70819166997.

70819166998.

Question Number : 62 Question Id : 70819120615 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
(1,5,35), (7, 5,5), (I A, 7), (2, 1, 2) ag)0milo Gr0gjMOD @RWOM, A-d6) OWMO®
DILIEBRINS @) :
Options :
2
70819166995. °



70819166996, 2

70819166997. 2

70819166998.

Question Number : 63 Question Id : 70819120616 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The intersection of three lines x—y=0, x+2y=3 and 2x+y=61is a :
Options :

70819166999, Kight angled triangle

70819167000. Isosceles ’r_rianglr:

70819167001, Equilateral triangle

20819167002. MNone of the above

Question Number : 63 Question Id : 70819120616 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
x=y=0, x+2y=3, 2 +y=6 ag)ml @) COEUMHD &)SmSIemuod §eneod)ma :
Options :

70819166999, 2S(@led=06mo



20819167000, TV2-00 (@ lea06mo

70819167001, T2 (@ledoemo

U 8301
70819167002. 2 806

Question Number : 64 Question Id : 70819120617 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
la+1)@+2) a+?2

The value of |(a+ 2)(a+3) a+3 1|is:

(a+3)a+4) a+4

j++]

¥}

Options :

70819167003, @ T D@ +2)(@+3)

20819167004, (@1 2)(a+3)(a+4)

70819167005, — 2

70819167006, U

Question Number : 64 Question Id : 70819120617 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(a+1)a+2) a+2 1
(a+t2)a+3) a+3 1 agemailend melo :
(@a+3)a+4) a+4 1

Options :



70819167003, (@ T D@ +2)(a+3)

20819167004, (@1 2)(a+3)(a+4)

70819167005, — 2

70819167006, 0

Question Number : 65 Question Id : 70819120618 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The rate of growth of bacteria in a culture is proportional to the number of bacteria present
and the bacteria count is 1000 at initial time t=0. The number of bacteria is increased by

¥
.
20% in 2 hours. If the population of bacteria is 2000 after 3 hours, then [ 3 is
IOBE |E) L ]'OBH"J
equal to :
Options :

70819167007, 2

e

70819167008.

oo

708191670009.

70819167010, 16

Question Number : 65 Question Id : 70819120618 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



a0} Aflenodienes emioaddowes agboalo dodgs), pi@sesote)es sodsldowns
o)Ay’ @eMalom@0E. t=0 g™ @DE) MAQED, fMIHSITOw S agepoe 1000

apem. 2 0el490i6BOs006E MmISSltIRdaNs agepo 20% aball). I k[. g
08e 5

]

2
enlanj0)b0d Hlejemiod maSidlowes agepo 2000 @@, [IOBLJ )@ :
4

=
Options :

70819167007, 2
70819167008, 4
70819167009, 8

70819167010. 16

Question Number : 66 Question Id : 70819120619 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the circle given below, let OA =1 unit, OB=13 unit and PQ L OB. Then, the area of the
triangle PQB (in square units) is :

NS
D\yﬁ X

Q
Options :

70819167011, 24V2

70819167012, 2443



70819167013, 26v2

.
70819167014, 2633

Question Number : 66 Question Id : 70819120619 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@06y mmildkeaim alyemeidd, OA =1 weg, OB =13 @jeng, PQ_LOB @pem. ag)@lad
‘b @enidla’ PQB @lesommaniion aloqjsal agmna :

y 1

Q
=]
p

Options :

I

70819167011, 24V2

70819167012, 2443

70819167013, 26v2

I
2‘\.
3]

70819167014.

Question Number : 67 Question Id : 70819120620 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[V3sin(T +h) — cos(Z + h)]
im 24 0 } 6 }'> is :

The value of 1
h—0 | J3h(+/3cosh — sinh) ]




Options :

ey

70819167015.

'..JIA'-'

70819167016.

g

70819167017. V3

3
70819167018. 4

Question Number : 67 Question Id : 70819120620 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: jwfihnmpg-| h) — cos(Z +h)] %
im 2 — ' - @l @mielo :
h—0 | J3h(\/3cosh — sinh) ] " B 220}

Options :

W N

70819167015.

03 |

70819167016.

Ty

70819167017. V3

"
70819167018. 4



Question Number : 68 Question Id : 70819120621 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The maximum slope of the curve y = —x* — 5x% + 18x% ~ 19x occurs at the point :

a3 =

Options :

70819167019. (0. 0)

L
70819167020. (2 2)

_{1 21
70819167021, © 2/

70819167022, (2 9)

Question Number : 68 Question Id : 70819120621 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

y=—2* — 5 +18% ~ 19 oM UGOVOS aggale dEIE 2idlal domeasim

Options:

70819167019. (0. 0)

2o
70819167020. (2 2)

70819167021, * 2/

70819167022, (2 9)



Question Number : 69 Question Id

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

,TE.-

The value of _I: CDS_J‘: dx is:
a 143
Options :
LU
70819167023, 2

70819167024, 27T

70819167025, &

70819167026, *™

Question Number : 69 Question Id

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

L
s

[ COS_;' dx agymaileny miello :
..'I:__.:'1 ]' l 2
Options :
LU
70819167023, =

70819167024, 2T

70819167025.

: 70819120622 Question Type : MCQ Option Shuffling : Yes

: 70819120622 Question Type : MCQ Option Shuffling : Yes



70819167026, *™

Question Number : 70 Question Id : 70819120623 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The number of seven digit integers with sum of the digits equal to 10 and formed by using
the digits 1, 2 and 3 only is :

Options :

70819167027, 42

(R ]

70819167028, >°

b |
=1

70819167029.

i o
-2

70819167030.

Question Number : 70 Question Id : 70819120623 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

1, 2,3 ag)mm @odnemid 9alewodlal dlalfalS|OMOAM®io @LHEBRINS ®)dh 10
MO aReds) aJBENIVELBRINS ag)eNo :

Options :

70819167027, 42

70819167028. -

=]
=~

70819167029.

o o
2

70819167030.



Question Number : 71 Question Id : 70819120624 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The maximum value of the term independent of ‘t’ in the expansion of [LP |

\ J
where x< (0, 1) is:
Options :

10!

70819167031, V3(5!)°

2.10!

L .
70819167032, V33!

70819167033, >!)°

2
70819167034. A51)

Question Number : 71 Question Id : 70819120624 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i 1 '\Il{}

1 1 = )0
tx3 A ( )

, 1 (0, 1) agmafland allaelleoemmnflad, ‘¢ odaaisomm aamilad
4

aleaonlddl ajelo agma :
Options :
10!

70819167031, V3(3)°



70819167032.

70819167033. -

2
70819167034, °')

Question Number : 72 Question Id : 70819120625 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let R={(P, Q) | P and Q are at the same distance from the origin} be a relation, then the
equivalence class of (1, —1) is the set:

Options:

S={(x, 2+y2=4
70819167035, © (% ¥) [T HyT=4

70819167036, >~ & ¥)

o s i, T
70819167037, > (& ¥) [ ¥ +y"=Tj

70819167038, o= (& ¥) | ¥ +12=2)

Question Number : 72 Question Id : 70819120625 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

e} ‘dleelatd’ R={(P, Q) | P, Q agmicu epworsimaldd afmi el @modelmdld
@6} ag)M@mIdIM) a@l@ (1, —1) agmalen ‘dineldn goni’an wemo :

Options :



E o
20819167035, > (& ¥) | x*+y°=4}

i 2 -
70819167036, >~ (& ¥) [ ¥ +y~=

vy 2., .9
70819167037, > (& ¥) [ X7 +y”

20819167038, 5= {® ¥ | ¥ +y*= 2}

Question Number : 73 Question Id : 70819120626 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let A be a symmetric matrix of order 2 with integer entries. If the sum of the diagonal
elements of A2 is 1, then the possible number of such matrices is :

Options :

70819167039, !

70819167040, 4

70819167041, ©

70819167042, 12

Question Number : 73 Question Id : 70819120626 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

@oosTBA aljdemmosydid ag sodawd 2 epw, eny Minacks aaidlan e A. A
oal alladen GronaBaINs ®ie 1 A®OM, @vldito @llfalSIEMOAIIM
OASHINHBINS MOWBID af)ifPo :

Options :



70819167039, 1

70819167040. 4

70819167041.

70819167042, ~ <

Question Number : 74 Question Id : 70819120627 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let f be any function defined on R and let it satisfy the condition :
fo-fnl=x-y?, 7 @xy=<R
If f(0) = 1, then :
Options:

70819167043, /() >0, 7xe R

20819167044, /(¥ <0, xR

70819167045, J(¥) =0, 7xe R

70819167046. f(x) can take any value in R

Question Number : 74 Question Id : 70819120627 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

R-@ cdfldoualeneq|ddeniom a0} anedaumosny f. @),

fl)=fn) | = [(x=y)7|, ¥ (x, y) € R agom aflerucwm oudewaoas)imm).
f0) = 1 @opwod :

Options :



70819167043, /) > 0 7 x & R

20819167044, /) <0 ¥ x = R

fix)=0,vxe R
70819167045. °

f(x)-orf R-eel @ @IeNCUMOE:I0
70819167046, 7 © ag3® el

Question Number : 75 Question Id : 70819120628 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A fair coin is tossed a fixed number of times. If the probability of getting 7 heads is equal to
probability of getting 9 heads, then the probability of getting 2 heads is :

Options :
]
bt
70819167047, 2

70819167048.

70819167049.

15
14
70819167050, 2

Question Number : 75 Question Id : 70819120628 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



80} OWIREM MeM@o, (ilval®m MMM ag)d@imy. 7 Hanaidhid HlSMmIR Mowm
9 OO MHIFMIBR MIWMEDH MIRIR0WIM, 2 Han)®MD &HI5IMmEs moW®
gy :

Options :

8
70819167047, 2

1
70819167048, 2

70819167049.

15
14
70819167050. 2

Question Number : 76 Question Id : 70819120629 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e = -1 ' ¢ !
sin =~ X cos X tan BE i

I — - Y ;0 < x <1, then the value of C05| | 15 :
= b % \a+b)

Options :

2
70819167051, 1~V

lyz

70819167052. VY

2
70819167053, + " V¥

2y
70819167054,



Question Number : 76 Question Id : 70819120629 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

™ )
= tU| WIOS Belo :

-1 Iy
f £ [ Lan 1
= = f;ﬂf:x--:l, @O CGS|
a b C \

Options :

-

70819167051, 1 ¥~

-

-y
70819167052. VY

70819167053.

2y
70819167054.

Question Number : 77 Question Id : 70819120630 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: : : : ; i .
In an increasing geometric series, the sum of the second and the sixth term is % and the

product of the third and fifth term is 25. Then, the sum of 4th gth and 8th terms is equal to :
Options :

70819167055, 26

70819167056. >0

70819167057, 32



70819167058, 9

Question Number : 77 Question Id : 70819120630 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

B ER0ANEMHAdTel8s 6} egjeasls midnilc taeinammmle EROINOEM® )0

25
AJARBEINS ®id - -0, BMIVOEDW0 BOMINOEBWI0 AlBSIBRIOS (YFMManelo

25 9o EDWOM, MILNDOEMR o EDOIROENVI0 AfSODOMDV alBETBRINS M)
)M :

Options:

]
o

70819167055.

L3

70819167056. 0

70819167057. -

3

70819167058, 32

Question Number : 78 Question Id : 70819120631 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

— _ 2 7 | A 7 :
The sum of the infinite series 1+ —+ — + =+ —/ + — + ... is equal to :
3 s & E

Options :

9
70819167059, 4

‘¥
70819167060. 4



13

70819167061. 4

15
70819167062, 4

Question Number : 78 Question Id : 70819120631 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2 7 12 17 22
1+ 2+ 5+ 5+ —+ = +...... o ‘entdadlodld” mdldlomded @i :
Options :
9
70819167059, 4

11
70819167060. 4

13

70819167061. 4

15
70819167062, 4

Question Number : 79 Question Id : 70819120632 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider the three planes
P; : 3x+15y+21z=9,
P,: x—3y—z=>5, and
Py : 2x+10y +14z=5
Then, which one of the following is true ?



Options :

20819167063, |1 and P, are parallel.

20819167064, L1 and P are parallel.

20819167065, F1- P2 and Py all are parallel.

70819167066, | 2 @nd I3 are parallel.

Question Number : 79 Question Id : 70819120632 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

DT ®elstRGd al@lwense b
P‘l : 3x+15y+21z=9,
Py:x—-3y—z=>5
Py : 2x+10y +14z=5
af) @D, ®o69eH60s ) alclenimada dwowo apml ?
Options :

70819167063, 17 P2 AU MOBOODOBIEN

70819167064, L 17 T3 20 U@IDODIEM

70819167065. P,, P,, P; 001 QORIMDO6TB06M

20819167066, L2 I3 20 (EZOMHOMIET

Question Number : 80 Question Id : 70819120633 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



100 n

The value of Y. LIF e* Ml dx, where [x] is the greatest integer = x, is :
n=1 n—1

Options :

70819167067, 100(1~¢)

70819167068, 100(1 +e)

70819167069, 100¢

70819167070, 100(e —1)

Question Number : 80 Question Id : 70819120633 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
.l{lﬂ' T ey
2 4« (<] agmaiiond aelo ([x] egmma) aeaoatull al)dem moosy) < 1) :
n=1 -1
Options :

70819167067, 100(1—¢)

70819167068, 100(1+e)

70819167069, 100¢

70819167070, 100(e —1)

Mathematics Section B

SectionId : 708191915



Section Number : 6

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10

Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911195
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 70819120634 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The difference between degree and order of a differential equation that represents the family
. : -

,a>0is_ .

? : 2 . wa
of curves given by ¥~ =a| x 4 o
\ oF

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 81 Question Id : 70819120634 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

‘anodlell @oad esdarm’ - om waldluladsoim i =a(x | g ,a >0 agm
h o
Wlanomaty@d maciddkielod wluloje sdwoje momle)es al®miome agmae

i

_ @em.

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 82 Question Id : 70819120635 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The sum of 162" power of the roots of the equation x3—2x2+2x-1=0 is
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 82 Question Id : 70819120635 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

23 =2024+2x=1=0 ag)im COUOMETOMR ‘0j5) HBIOS 162 -0060M d)@WIOS @)

]

af) M _ @DEm.
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 83 Question Id : 70819120636 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The area bounded by the lines y=|x—1|—-2|is ___
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 83 Question Id : 70819120636 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

i

y=|x=1|-2| agm coaisd 9BOHIERIM @ONEMIOM aldajgal  @pe,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 84 Question Id : 70819120637 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
| dl | esjn\‘.f

If y=y(x) is the solution of the equation e”"cosy cosx = cosx, y(0)=0; then

. (o) \'ﬁ 3 1 () _
14 ylkgj | ?quj | x—EyIIJ isequal to .

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 84 Question Id : 70819120637 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

. i1 d. 11T
y=y(x) agma e cosy —dy He™™ cosx = cosx, y(0)=0 agmm MR
.

]

(m), B (v), 1 (7 ,
oomonowom, 1 1 yl EJ l T”I?J ' v,—glfi_ L\ agm® _______ @Dem.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 85 Question Id : 70819120638 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The number of solutions of the equation logy(x—1)=log,(x—3)is
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 85 Question Id : 70819120638 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

log, (x —1) =log,(x—3) agm macddEled OMMABROS agefo @Rk,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 86 Question Id : 70819120639 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The number of integral values of 'k’ for which the equation 3sinx + 4cosy =k + 1 hasa solution,
kcRis, .. .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 86 Question Id : 70819120639 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

k = R-@, 3sinx+4cosx=k+1 ag)m maadakomln’ 8} semoapeaemld, K -4

WM ‘D aeyri’ed agepoe ageme’ e
Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 87 Question Id : 70819120640 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let (A, 2, 1) be a point on the plane which passes through the point (4, —2, 2). If the plane is
perpendicular to the line joining the points (-2, —21, 29) and (-1, —16, 23), then

A
— —4 isequal to ___
) 1N

I’;« Vo

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 87 Question Id : 70819120640 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

(4 -2, 2) agm enfimyaflenes esmjeaiosim 6oy maeea aoqory eflajaoen)
(N, 2. 1) agmna@. (-2, =21, 29), (=1, =16, 23) agymll edlo3jend eaibomi ajallacleamm

ey Y
A 4\

{
COELAE Lloenlo @O melnmessld, 'ﬁ i ____ @pem,
vl

4 agymnm __

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText



Possible Answers :

5 to 5.001

Question Number : 88 Question Id : 70819120641 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
™

The value of the integral _[ sin2x |dx is
0

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 88 Question Id : 70819120641 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

[|sin2x |dx agyon @elod meyo  @wer.
0

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 89 Question Id : 70819120642 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



[f ﬁ(msz;\'] = [ﬁ ~1)cosx + 1, the number of solutions of the given equation when

xe[[],i
it

15

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 89 Question Id : 70819120642 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

-@ D MO

lwﬁ(coszxj =(3-1)cosx +1 @M, x< [Ufg
DOEMOTBEOS af)éPo __ @DdhJMY,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 90 Question Id : 70819120643 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

C(30)  (30)
Letm,n<s Nand ged (2, n)=1. If 3[]‘ 0 I 29‘ ‘ . 2

W N G

(30)
28

lfﬁ%[]\ -';,]]1 ﬂ
f “ZE{J =n-2", then

n+m is equal to

( ‘n)
lk Here l L

5]

A}
¢,
P



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001
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